MTH101 - Quiz 1 – Fall 2016 - From Lecture # 1 to Lecture # 8
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MTH101:Quiz No. 1 12 November 2016
Question #6 of 10 Total Marks: 1
Which of the following s x-interoept of a ine represented by equation. 2x = 5y + 16

1615
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MTH101:Quiz No. 1 12 November 2016
Question #5 of 10 Total Marks: 1
Every real number corresponds to onthe corordinate fine.

& unique point

(Two pints (one posive and one negative]

Infite number of ports

None of these
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MTH101:Quiz No. 1 12 November 2016
[Question # 4 of 10 Total Marks: 1
i ofth foloning desribs hecaston

‘Select correct option

[Kine paralll o caxis

[Line paralel o y-axis

(2 point (0. 1)

(A point (1.0)
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MTH101:Quiz No. 1 12 November 2016

Question #3 of 10

Which of the following is VERTEX of parabola represented by the cquation :y — (a%) +2

Total Marks: 1

Select correct option Reload Math Equations

.3

@6

©2

None of these.
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[Question #2 of 10 Total Marks: 1
Which of the following s x-nteroept of a ine represente by equation. 2x = 5y + 47

Not defined
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Question # 1 of 10 Total Marks: 1

Which of the olloning point satisfes the equation x + 5y = 3

27)

.7

2.1

(0.4
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Question # 10 of 10 Total Marks: 1
Sauare rootof 2is an example of

Rational numbers

Tafional numbers.

Natural numbers.
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Question #9 of 10 Total Marks: 1
Which of the folloning is slope o alne segment ining the poins (4. 3) and (2. 3}7

77
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MTH101:Quiz No. 1 12 November 2016
Question #8 of 10 Total Marks: 1
Which of the following is equation of s ine whose slope s 7 and y-interceptis 37

7y=x+3

V=7

y=Txe3

Rt
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